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Monthly Inventory Sheet

Site: Lennox Belstead Month-and year: Nov-12
Machine:
Week ending/Week No:
P 03/11/2012] 10/11/2012] 17/11/2012] 24/11/2012] 01/12/2012]
Monthly Total
Weight of work processed (kg) Weight (kg)
a
| 311.40| 301.60] 296.40] 234.70| 232.50 1,376.60
Monthly Total
Solvent used (litres) (Litres)
c
[ 3.00] 3.00] 3.00] 3.00| 3.00 15.00
Estimated still residue for month (litres) [ d | 25.00]

Note: Estimate the amount of residue collected so that a draft soivent usage figure can be obtained. You will need to adjust this
figure from time to time so that the total for the year camresponds to your waste collection transfer notes.

Stilt type / Allowance factor

Waste Allowance factor
e d f=exd
Mahual rake out 0.15 25.00 3.75
Pumped out 0.6 0.00
|Nominal Monthly Solvent Use ] (litres) ] g=c-f l 11.25|
Solvent emission calculation
Factor: Specific |Weight of work / Weight of solvent
Type of solvent gravity of solvent |litre of solvent _ |Solvent emitted {used
(g/l) (kg /N _g/kg (kg)
h j=alg k=h/j b =g x(h/1000)
Pers 1600 122.36 13.08 20.92
Siolocane 970 0.00 0.00 0.00
Hydrocarbon 970 0.00 0.00 0.00
Qther 0.00 0.00 0.00

Note: To comply with the reguiations the "Solvent emitted” should be 20g / kg or less




Monthly Inventory Sheet

Site:  Lennox Belstead
Machine:

Wezk ending/Week No:

Month and year: Jan-13

| 05/01/2013] 12/01/2013] 19/01/2013] 26/01/2013] 02/02/2013|
Monthly Total
Weight of work processed (kg) Weight (kg)
a
{ 174.60] 279.10] 192.20] 153.10} 187.70 986.70
Monthly Total
Solvent used (litres) (Litres)
C
] 2.00] 3.00] 2.50] 2.00] 2.00 11.50
Estimated stiil residue for month (litres) | d | 18.00)

Note: Estimate the amount of residue collected so that a draft solvent usage figure can be cbtained. You will need to adjust this
figurs from time to time so that the total for the year coresponds to your waste collection transfer notes.

Still type / Allowance factor

Waste Allowance factor
e d f=exd
Manual rake out 0.15 18.00 2.70
Pumped out 0.6 0.00
Nominal Monthly Solvent Use | (litres) I g=c-f | 8.80
Solvent emission calculation
_ Factor; Speciﬁc Weight of work / Weight of solvent
Type of soivent gravity of solvent |litre of solvent Solvent emitted |used
{g/) (kg /1) g/ kg (kg)
h i=alg k=h/] b =g x (h/ 1000)
Perc 1600 112.13 14.27] 52.83
Siolocane 970 0.00 0.00 0.00
Hydrocarbon 970 0.00 0.00 0.00
Other 0.00 0.00 0.00

Note: To comply with the regulations the "Solvent emitted" should be 20g / kg or less




Monthly Inventory Sheet

Site: Lennox Belstead Month and year: Feb-13
Machine:
Week ending/Week No:
P 09/02/2013| 16/02/2013| 23/02/2013) 02/03/2013] |
Monthly Total
Weight of work processed (kg) Weight (kg)
a
[ 215.80| 151.20| 214.30( 213.50] 794.80
Monthly Total .
Solvent used (litres) (Litres)
c
| 2.50| 2.00| 2.50] 2.50} 9.50
Estimated still residue for month (litres) [ d | 16.00|

Note: Estimate the amount of residue coliected so that a draft solvent usage figure can be obtained. You will need to adjust this
figura from time to time so that the total for the year corresponds to your waste coflection transfer notes.

Still type / Allowance factor

Waste Allowance factor
e d f=exd

Manual rake out 0.15 16.00 2.40
Pumped out 0.6 0.00
Nominal Monthly Solvent Use | (lites) | @=c-f 7.10)|
Solvent emission calculation

Factor: Specific |Weight of work / Weight of solvent

Type of solvent gravity of solvent {litre of sclvent Solvent emitted |used
gy (kg /1) g/kg (kg)
h j=alg k=h/j b =g x (h/1000){

Perc 1600 111.94 14.29 22.87
Siolocane 970 0.00 0.00 0.00
Hydrocarbon 970 0.00 0.00 0.00
Other 0.00 0.00 0.00

Note: To comply with the regulations the "Solvent emitted" should be 20g / kg or less




Menthly Inventory Sheet

Site:  Lennox Beistead Month and year: Mar-13
Machine:
Week ending/Week No:
| 09/03/2013| 16/03/2013| 23/03/2013] 30/03/2013] J
Monthly Total
Weight of work processed (kg) Weight (kg)
a
| 221.20] 179.00] 216.30| 213.70| 830.20
Monthly Total
Solvent used (litres) {Litres)
c
{ 2.50] 2.00] 2.00] 2.50] 5.00

Estimated still residue for month (litres)

Note: Estimate the amount of residue coflected so that a draft solvent usage figure can be obtained. You will nes

[

d l

14.00}

figure from time to time so that the total for the year corresponds to your waste collection transfer notes.

Still type / Allowance factor

d to adjust this

Waste Allowance factor
e d fzexd
Manual rake out 0.15 14,00 210
Pumped out 0.6 0.00
[Nominal Monthly Solvent Use | (litres) l g=c-f | B.EEI
Solvent emission calculation
Factor: Speciﬁc Weight of work / Weight of solvent
Type of solvent gravity of solvent |litre of solvent  [Solvent emitted Jused
(g (kg /1) g/kg (kg)
h j=arg k=h/j b =gx(h/1000)
Perc 1600 120.32 13.30 21.23
Siclocane 870 0.00 0.00 0.00
Hydrocarbon 970 0.00 0.00 0.00
Other 0.00 0.00 0.00

Note: To comply with the regulations the "Solvent emitted” should be 20g / kg or less




Mcnthly Inventory Sheet

Site:  Lennox Belstead Month and year: Apr-13
Machine:
Week ending/Week No:
[ 06/04/2013| 13/04/2013| 20/04/2013| 27/04/2013| |
Monthly Total
Weight of work processed (kg) Weight (kg)
a
) 194.10] 263.00] 175.10] 239.70( 871.90
. Monthly Total
Solvent used (litres) (Litres)
c
| 2.50] 3.00| 2.00| 2.50| 10.00
Estimated still residue for month (litres) | d | 16.00]

Note: Estimate the amount of residue collected so that a draft solvent usage figure can be obtained. You will need to adjust this
figurs from time to time so that the total for the year corresponds to your waste collection transfer notes.

Still type / Allowance factor

Waste Allowance factor
e d f=exd
Manual rake out 0.15 16.00 2.40
Pumped out 0.6 0.00
[Nominal Monthly Solvent Use [ {litres) | g=c-f 7.60]
Sclvent emission calculation
Factor: Specific |Weight of work / Weight of solvent
Type of solvent gravity of solvent |litre of solvent Solvent emitted |used _
{9/) (kg /1) g/kg (kg)
h j=alg k=hij b =gx(h/1000)
Perc 1600 114.72 13.95 22.31
Siolocane 970 0.00 0.00 0.00
Hydrocarbon 970 0.00 0.00 0.00
Other 0.00 0.00 0.00

Note: To comply with the reguiations the "Solvent emitted" should be 20g/Kkg or less




Mcnthly Inventory Sheet

Site:  Lennox Belstead Month and year: May-13
Machine:
Week ending/Week No:
| 04/05/2013| 11/05/2013} 18/05/2013| 25/05/2013) 01/06/2013|
Moenthly Total
Weight of work processed (kg) Weight (kg)
a
| 238.30| 276.90] 257.90| 261.20] 239.90 1,274.20
Monthly Total
Solvent used (litres) (Litres)
c
{ 3.00| 3.00] 3.00] 3.00] 3.00 15.00
Estimated stili residue for month (litres) [ d I 20.00]
Note: Estimate the amount of residue collected so that a draft solvent usage figure can be obtained. You will need to adjust this
figure from time to time so that the total for the year corresponds to your waste collection transfer notes.
Still type / AHowance factor
Waste Allowance factor
e d f=exd
Manual rake out 0.15 20.00 3.00
Pumped out 0.6 0.00
Nominal Monthly Solvent Use | giesy | g=c-f | 12.00|
Solvent emission calculation
Factor: Specific |Weight of work / Weight of solvent
Type of solvent gravity of solvent |litre of solvent Solvent emitted {used
Ao/ ¢ kg /1) g/kg (kg
h j=alg k=h/j b = gx (h/1000)
Perc 1600 106.18 15.07 24.11
Siolocane 970 0.00 0.00 0.00
Hydrocarbon 970 0.00 0.00 0.00
Other 0.00 0.00 0.00

Note: To comply with the regulations the "Solvent emitted” should be 20g / kg or less




Monthly Inventory Sheet

Site:  Lennox Belstead Month and year: Jun-13
Machine:
Week ending/Week No:
t 08/06/2013] 15/06/2013] 22/06/2013] 29/06/2013| ]
Monthly Total
Weight of work processed (kg) Weight (kg)
_ a
1 267.90| 235.80] 272.00] 255.10| 1,030.80
Monthly Total
Solvent used (litres) {Litres)
c
1 3.00] 3.00{ 3.00] 3.00| 12.00
Estimated still residue for month (litres) I d l 16.00

Note: Estimate the amount of residue collected so that a draft solvent usage figure can be obtained. You will need to adjust this
figuze from time to time so that the total for the year corresponds to your waste collection transfer notes.

Still type / Allowance factor

Waste Allowance factor
e d f=exd

Manual rake out 0.15 18.00 2.40
Pumped out 0.6 0.00
Nominal Monthly Solvent Use l (litres) | g=c-f 9.60|
Solvent emission calculation

Factor: Specific |Weight of work / Weight of solvent

Type of solvent gravity of solvent |litre of solvent  |Solvent emitted |used
{9/ (kg /) g/kg (kg)
h j=alg k=h/j b =g x(h/1000)

Perc 1600 107.38 14.90 23.84
Sioclocane 870 0.00 0.00 0.00
Hydrocarbon 970 0.00 0.00 0.00
Other 0.00 0.00 0.00

Note: To comply with the regulations the "Solvent emitted” should be 20g / kg or less
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Monthly Inventory Sheet

Site: Lennox Belstead Month and year: Oct-11
Machine;
Week ending/Week No:
I 06/10/2012] 13/10/2012] 20/10/2012] 27110/2012] 03/11/2012]
Monthly Total
Weight of work processed (kg) Weight (kg)
a
! 324.30) 293.00} 326.00] 311.90| 1,255.20
Monthly Total
Solvent used (litres) {Litres)
C
] 3.50! 3.50} 3.50| 3.50] 14.00
Estimated still residue for month (litres) | d [ 20.00]
Note: Estimate the amount of residue collected so that a draft solvent usage figure can be obtained. You will need to adjust this
figure from time to time so that the total for the year corresponds to your wasts collection transfer notes.
Still type / Allowance factor
Waste Allowance factor
e d f=exd
Manual rake out 0.15 20.00 3.00
Pumped out 0.6 0.00
INominal Monthly Solvent Use | (litres) g=c-f 11.00]
Solvent emission calculation
Factor: Specific |Weight of work / Weight of scivent
Type of solvent gravity of solvent (litre of solvent  |Solvent emitted |used
S0 (kg /1) _9/kg (kg)
h j=alg k=h/j b =gx (h/1000)
Perc 1600 114.11 14.02 22.43
Siolocane 970 0.00 0.00 0.00
Hydrocarbon 970 0.00 0.00 0.00
Other 0.00 0.00 0.00

Note: To comply with the regulations the "Solvent emitted" should be 20g / kg or less




Monthly Inventory Sheet

Site:  Lennox Belstead Month and year: Sep-12
Machine:
Week ending/Week No:
] 06/09/2012] 15/09/2012] 22/09/2012] 29/09/2012} |
Monthly Total
Weight of work processed (kg) Weight (kg)
a
| 298.50| 345.90( 300.20] 314.70| 1,259.30
Monthly Total
Solvent used {litres) (Litres)
c

| 3.00] 4.00] 3.00] 4.00| 14.00
Estimated still residue for month (litres) ] d l 20.00]
Note: Estimate the amount of residue collected so that a draft solvent usage figure can be obtained. You will need to adjust this
figure from time to time so that the total for the year corresponds o your waste collection transfer notes.
Still type / Allowance factor

Waste Allowance factor

e d f=exd

[Manual rake out 0.156 20.00 3.00
Pumped out 0.6 0.00
Nomina! Monthly Solvent Use | {litres) I g=c-f | 11.00|
Solvent emission calculation

Factor: Specific |Weight of work / Weight of solvent

Type of solvent gravity of solvent [litre of solvent  |Solvent emitted |used
(o) (ka/l) g/kg (kg)
h j=alg k=h/j |b=gx(h/1000)

Perc 1600 114.48 13.98 22.36
Siolocane 970 0.00 0.00 0.00
Hydrocarbon 970 0.00 0.00 0.00
Other 0.00 0.00 0.00

Note: To comply with the regulations the "Solvent emitted" should be 20g / kg or less




Monthly Inventory Sheet

Site: Lennox Belstead Month and year: Aug-12
Machine:
Week ending/Week No:
| 04/08/2012} 11/08/2012| 18/08/2012] 25/08/2012] 01/08/2012|
Monthly Total
Welght of work processed (kg) __Weight (kg)
a
B 268.50] 270.90] 263.90| 293.80| 271.20 1,368.30
Monthly Total
Solvent used (litres) (Litres)
C

{ 3.00{ 3.00] 3.00] 3.00| 3.00 15.00
Estimated still residue for month (litres) [ d | 25.00)
Note: Estimate the amount of residue collected so that a draft solvent usage figure can be obtained. You will need to adjust this
figure from time to time so that the total for the year corresponds to your waste collection transfer notes.
Still type ! Allowance factor

Waste Allowance factor

e d f=exd

Manual rake out 0.16 25.00 3.75
Pumped out 0.6 0.00
Nominal Monthly Solvent Use f (litres) | g=c-f 11.ﬁ
Solvent emission calculation

Factor: Specific |Weight of work / Weight of solvent

Type of solvent gravity of solvent [litre of solvent  |Solvent emitted |used
an (kg /1) g/kg (kg)
h j=alg kK=h/j b =g x(h/1000)

Perc 1600 121.63 13.16 21.05
Siolocane 870 0.00 0.00 0.00
Hydrocarbon 870 0.00 0.00 0.00
Other 0.00 0.00 0.00

Note: To comply with the regulations the "Solvent emitted” should be 20g / kg or less




Monthly Inventory Sheet

Site: Lennox Beistead Month and year: Jul-12
Machine:
Week ending/Week No:
| 07/07/2012| 14/07/2012] 21/07/2012] 28/07/2012] 04/08/2012]
Monthly Total
Weight of work processed (kg) Weight (kg)
a
| 331.40| 341.00| 328.00| 257.50] 1,257.90
Monthly Total
Solvent used (litres) {Litres)
C
[ 3.50| 4.00| 3.00| 3.00] 13.50
Estimated still residue for month (litres) | d | 20.00]
Note: Estimate the amount of residue collected so that a draft solvent usage figure can be obtained. You will need to adjust this
figure from time to time so that the total for the year corresponds to your waste collection transfer notes.
Still type ! Allowance factor
Waste Aliowance factor
e d f=exd
Manual rake out 0.15 20.00 3.00
Pumped out 0.6 0.00
{Nominal Monthly Solvent Use | (litres) | g=c-t | 10.50|
Solvent emission calculation
Factor: Specific |Weight of work / Weight of solvent
Type of solvent gravity of solvent |litre of solvent  |Soivent emitted |used
(g (kg /1) g/kg (kg)
h j=alg k=h/j b =gx (h/1000)
Perc 1600 119.80 13.36 21.37
Siolocane 970 0.00 0.00 0.00
Hydrocarbon 8970 0.00 0.00 0.00
Other 0.00 0.00 0.00

Note: To comply with the regulations the "Solvent emitted” should be 20g / kg or less




Monthly Inventory Sheet

Site: Lennox Belstead Month and year: Jun-12
Machine:
Week endingMeek No:
! 09/06/2012] 16/06/2012| 23/06/2012] 30/06/2012| |
Monthiy Total
Weight of work processed (kg) Weight (kg)
a
| 312.40] 339.20| 295.00] 333.60| 1,280.20
Monthly Total
Solvent used (litres) (Lifres)
G
| 3.00] 3.00] 3.50] 4.00] 13.50
Estimated still residue for month (litres) I d | 20.00]
Note: Estimats the amount of residue coliected so that a draft solvent usage figure can be obtained. You will need to adjust this
figure from time to time so that the total for the year comesponds to your waste collection transfer notes.
Still type / Allowance factor
Waste Allowance factor
e d f=exd
Manual rake out 0.15 20.00 3.00
Pumped out 0.6 0.00
[Nominal Monthly Solvent Use I (litres) g=c-f | 10.5tﬂ
Solvent emisslon calculation
Factor: Specific |Weight of work / Weight of solvent
Type of solvent gravity of solvent [litre of solvent  |Solvent emitted |used
@ g/l g7kg (kg)
h j=alg k=h/j b =gx(h/1000)
Perc 1600 121.92 13.12 21.00
Siolocane 970 0.00 0.00 0.00
Hydrocarbon 970 0.00 0.00 0.00
Other 0.00 0.00 0.00

Note: To comply with the regulations the "Solvent emitted” should be 20g / kg or less




Monthly Inventory Sheet

Site:  Lennox Belstead Month and year: May-12
Machine:
Week ending/Week No:
| 05/05/2012| 12/05/2012| 19/05/2012| 26/05/2012| ~ 02/06/2012]
Monthly Total
Weight of work processed (kg) __Weight (kg)
a
| 0.00] 0.00| 0.00] 0.00] 376.70 376.70
Monthly Total
Solvent used (litres) (Litres)
C
| 0.00| 0.00] 0.00] 0.00] 3.50 3.50
Estimated still residue for month (litres) [  d | 5.00)
Note: Estimate the amount of residue collected so that a draft solvent usage figure can be obtained. You will need to adjust this
figure from time to time so that the total for the year commesponds to your waste collection transfer notes.
Still type ! Allowance factor
Waste Allowance factor
e d f=exd
Manual rake out 0.15 5.00 0.75
Pumped out 0.6 0.00
[Nominal Monthly Solvent Use | gitres) | g=c-f ] 2.75|
Solvent emission calculation
Factor: Specific |Weight of work / Weight of soivent
Type of solvent gravity of solvent |litre of solvent  |Solvent emitted |used
[1D) (kg /1) g/kg (kg)
h j=alg k=h/j b =g x(h/1000)
Perg 1600 136.98 11.68 18.69
Siolocane 970 0.00 0.00 0.00
Hydrocarbon 970 0.00 0.00 0.00
Other 0.00 0.00 0.00

Note: To comply with the regulations the "Solvent emitted" should be 20g / kg or less
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Monthiy Inventory Sheet

Site: Lennox Belstead Month and year. Nov-11
Machine:
Week ending/Week No:
| 05/11/2011] 12/11/2011] 19/11/2011} 26/11/2011) 03/12/2011]
Monthly Total
Weight of work processed {kg) Weight (kg)
a
| 359.20| 375.10| 363.10] 337.80| 386.50 1,821.70
Monthly Total
Solvent used (litres) (Litres)
C
| 4.50] 5.00| 5.00] 4.00] 5.00 23.50
Estimated still residue for month (litres) | d | ,30.00|

Note: Estimate the amount of residue collected so that a draft solvent usage figure can be obtained. You will need to adjust this
figure from time to time so that the total for the year corresponds to your waste collection transfer notes.

Still type / Allowance factor

Waste Allowance factor
e d f=exd

Manual rake out 0.15 30.00 4.50
Pumped out 0.6 0.00
Nomina! Monthly Solvent Use | (litres) | g=c-f | 19.00
Solvent emission calculation .

Factor: Specific |Weight of work / Weight of solvent

Type of solvent gravity of solvent |litre of solvent | Solvent emitted {used
(/) (kg /1) g/kg (kg)
h j=alg k=h/j |b=gx(h/1000)

Perc 1600 95.88 16.69 26.70
Siolocane 870 0.00 0.00 0.00
Hydrocarbon 970 0.00 0.00 0.00
Other - 0.00 0.00 0.00

Note: To comply with the regulations the "Solvent emitted” should be 20g / kg or less




Mcnthly Inventory Sheet

Site: Lennox Belstead Month and year: Dec-11
Machine:
Week ending/Week No:
1 1012/2011] 17/12/2011} 24/12/2011] 31/12/2011{ |
Monthly Total
Weight of work processed (kg) _Weight (kg)
a
| 332.00] 357.40| 315.50] 158.10| 1,163.00
Monthly Total
Solvent used (litres) {Litres)
c
{ 4.00| 4.50] 4.00| 2.00] 14.50
Estimated still residue for month (fitres) | d | 24.00|
Note: Estimate the amount of residue collected so that a draft solvent usage figure can be obtained. You will need to adjust this
figure from time to time so that the total for the year cormresponds to your waste collection transfer notes.
Still type I Allowance factor
Waste Allowance factor
e d f=exd
Manual rake out 0.15 24.00 3.60
Pumped out 0.6 0.00
[Nominal Monthly Solvent Use | qgitresy | g=c-f ] 10.90
Solvent emission calcuiation
Factor: Specific [Weight of work / Weight of solvent
Type of solvent gravity of solvent |iitre of solvent  |Solvent emitted |used
(o) (kg /1) g/kg (kg)
h j=alg K=h/j b =g x (h/ 1000)
Perc 16800 106.70 15.00 23.99
Siolocane 870 0.00 0.00 0.00
Hydrocarbon 970 0.00 0.00 0.00
Other 0.00 0.00 0.00

Note: To comply with the reguiations the "Solvent emitted" should be 20g / kg or less




Monthly Inventory Sheet

Site: Lennox Belstead Month and year: Jan-12
Magshine:
Week ending/Week No:
| 07/01/2012} 14/01/2012| 21/01/2012§ 28/01/2012] 04/02/2012|
Monthly Total
Weight of work processed (kg) Weight (kg)
a
| 268.60| 291.60{ 302.10] _ 354.60] 353.70 1,570.60
Monthly Total
Solvent used (litres) {Litres)
c
| 4.00] 4.00} 4.00} 4.50] 4.50 21.00
Estimated still residue for month (litres) I d | -30.00'

Note: Estimate the amount of residue collected so that a draft solvent usage figure can be cbtained. You will need to adjust this
figura from time to time so that the total for the year coresponds to your waste collection transfer notes.

Still type / Allowance factor

Waste Allowance factor
e d f=exd

Manual rake out 0.15 30.00 4.50
Pumped out 0.6 0.00

[Nominal Monthly Solvent Use [ qgitres). | g=c-f | 16.50]

Solvent emission calculation 5
Factor: Specific |[Weight of work / Weight of solvent
Type of solvent gravity of solvent |litre of solvent  [Solvent emitted [used
(a/) (kg /1) g/kg (kg)

h j=alg k=h/j b =g x (h/1000)
Perc 1600 95.19 18.81 26.89
Siolocane 870 0.00 0.00 0.00
Hydrocarbon 970 0.00 0.00 0.00
Other 0.00 0.00 0.00

Note: To comply with the regulation’ the “Solvent emitted" should be 20g / kg or less




Menthly Inventory Sheet

Site: Lennox Belstead Month and year: Feb-12
Machine:
Week ending/Week No:
| 11/02/2012] 18/02/2012] 25/02/2012] 03/03/2012] B
Monthly Total
Welght of work processed {kg) Weight (kg)
a
| 306.60| 311.50) 250.50] 297.60| 1,166.20
Monthly Total
Solvent used (litres) {Litres)
c
[ 4.00] 4.00] 3.50] 4.00] 15.50
Estimated still residue for month (litres) [ d | 24.00|

Note: Estimate the amount of residue collected so that a draft solvent usage figure can be obtained. You will need to adjust this
figure from time to time so that the total for the year comresponds to your waste collection transfer notes.

Still type / Allowance factor

Waste Allowancé factor
e d f=exd
Manual rake out 0.15 24.00 3.60
Pumped out 0.6 0.00
{Nominal Monthly Solvent Use | (litres) g=c-f | 11.90]
Solvent emission calculation
Factor: Speéiﬂc Weight of work / Weight of solvent
Type of solvent jgravity of solvent |litre of solvent | Solvent emitted jused
(af) ~ {kg/l) g/kg (kg)
h j=alg k=h/j |b=gx(h/1000)
Perc 1600 98.00 16.33 26.12
Sioiocane 970 0.00 0.00 0.00
Hycrocarbon 970 0.00 0.00 0.00
Other 0.00 (.00 0.00

Note: To comply with the regulations the "Solvent emitted"” should be 20g / kg or less




Mcnthly Inventory Sheet

Site:  Lennox Belstead Month and year. Mar-12
Machine:
Week ending/Week No:
| 10/03/2012] 17/03/2012 24/03/2012] 31/03/2012| |
Monthly Total
Weight of work processed (kg) Weight (kg)
a
| 302.20] 317.50] 305.00| 272.50| 1,197.20
Monthly Total
Solvent used (litres) {Litres)
' c
| 4.,00] 4.00| 4.00] 4.00] 16.00
Estimated still residue for month (litres) [ d | 24.00|

Note: Estimate the amount of residue collected so that a draft solvent usage figure can be obtained. You wiil need to adjust this
figure from time to time so that the total for the year corresponds to your waste collection transfer notes.

Still type / Allowance factor

Waste Allowance factor
e d f=exd
Manual rake out 0.15 24.00 3.60
Pumped out 0.6 0.00
[Nominal Monthly Solvent Use I (litres)” g=c-f 12.40|
Solvent emission calculation z
Factor: Specific [Weight of work / Weight of solvent
Type of solvent gravity of soivent |litre of solvent | Solvent emitted [used '
(9/) (kg /1) 9/kg (kg)
h j=alg k=h/j b =g x (h/1000)
Perc 1600 96.55 16.57 26.52
Siolocane 970 0.00 0.00 0.00
Hydrocarbon 970 0.00 0.00 0.00
Other 0.00 0.00 0.00

Notz: To comply with the regulations the "Solvent emitted" should be 20g / kg or less




Manthly Inventory Sheet

Site: Lennox Belstead Month and year: Apr-12
Machine:
Week ending/Week No:
{ 07/04/2012| 14/04/2012] 21/04/2012| 28/04/2012| !
Monthly Total
Weight of work processed (kg) ___Weight (kg)
a
| 295.90| 302.50] 325.70] 335.50| 1,259.60
Monthly Total
Solvent used (litres) (Litres)
c
| 4.50] 4.00] 4.50] 4.50] 17.50
Estimated still residue for month (litres) | d | 24.00]

Note: Estimate the amount of residue collected so that a draft solvent usage figure can be obtained. You will need to adjust this
figure from time to time so that the total for the year comesponds to your waste collection transfer notes.

Still type / Allowance factor

Waste Allowance factor
e d f=exd

Manual rake out 0.15 24.00 3.60
Pumped out 0.6 0.00
Nominal Monthly Solvent Use [ (itres). g=c-f 13.90]
Solvent emission calculation .

Factor: Specific [Weight of work / Weight of solvent

Type of solvent gravity of solvent |litre of solvent  |Solvent emitted |used
(g/) (kg /1) g/kg (ka)
h j=alg k=htj b =g x (h/1000)

Perc 1600 90.62 17.66 28.25
Siolocane 870 0.00 0.00 0.00
Hydrocarbon 970 0.00 0.00 0.00
Other 0.00 0.00 0.00

Note: To comply with the regulations the "Solvent emitted" should be 20g / Kg or less




Mcnthly Inventory Sheet

Site:  Lennox Belstead Month and year: May-12
Machine:
Week ending/Week No:
| 05/05/2012| 12/05/2012| 19/05/2012] 26/05/2012] 02/06/2012|
Monthly Total
Weight of work processed (kg) Weight (kg)
a
| 289.60| 251.20| 362.20| 0.00] 0.00 903.00
Monthiy Total
Solvent used (litres) (Litres)
c
[ 4.00] 6.00! 20.00} 0.00] 0.00 30.00
Estimated still residue for month (litres) | d I 18.00

Note: Estimate the amount of residue collected so that a draft solvent usage figure can be obtained. You will need to adjust this
figure from time to time 2o that the total for the year corresponds to your waste collection transfer notes.

Still type / Allowance factor

Waste Allowance factor
e d f=exd
Manual rake out 0.15 18.00 2.70
Pumped out 0.6 - 0.00
INominal Monthly Solvent Use | qwes) | g=c-f 27.30|
Solyent emission calculation
3
Factor: Specific |Weight of work / Weight of solvent
Type of solvent gravity of solvent |litre of solvent  |Solvent emitted |used
(g/l) kg /1) g/kg (kg)
h j=alg k=h/j b =g x{h/1000)
Perc 1600 33.08] .~ 4837 77.40
Siolocane 970 0.00 0.00 0.00
Hydrocarbon ' 970 0.00 0.00 0.00
Other 0.00 0.00 0.00

Note: To comply with the regulationg the "Solvent emitted" should be 20g / kg or less




Monthly inventory Sheet

Site: Lennox Belstead Month-and year: May-12
Machine;
Week ending/Week No:
| 05/05/2012] 12/05/2012] 19/05/2012} 26/05/2012| 02/06/2012}
Monthly Total
Weight of work processed (kg) Weight (kg)
. a
| 289.60] 251.20| 362.20] 0.00] ~.0.00 903.00
Monthly Total
Solvent used (litres) {Litres)
C
| 4.00] 6.00| 20.00] 4.50] 4.00 38.50
Estimated still residue for month (litres) d | 30.00)

Note: Estimate the amount of residue collected so that a draft solvent usage figure can be obtained. You will need to adjust this
figure from time to time so that the total for the year corresponds to your waste collection transfer notes.

Stil! type / Allowance factor

Waste Allowance factor
e d f=exd
Manual rake out 0.15 30.00 4.50
Pumped out 0.6 0.00
{Nominal Monthly Solvent Use | (litres) | g=c-f 34.00
Solvent emission calculation
Factor: Specific [Weight of work / Weight of solvent
Type of solvent gravity of solyent |iitre of solvent  |Solvent emitted |used
(g (kg 7} g/kg (kg)
h j=alg k=h/j b =g x(h/1000)
Perc 1600 26.56( 60.24 96.39
Siolocane 970 0.00 0.00 0.00
Hydrocarbon 970 0.00 0.00 0.00
Other 0.00 0.00 0.00

Note: To comply with the regulations the “Solvent emitted" should be 20g / kg orless
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Monthly Inventory Sheet

Site:  Lennox Beistead Month and year: Nov-10
Machine:
Week ending/Week No:
| 06/11/2010] 13/11/2010| 20/11/2010] 27/11/2010| 04/12/2010)
Monthly Total
Weight of work processed (kg) Weight (kg)
a
| 339.00| 278.00] 334.80| 275.30} 371.60 1,598.70
Monthly Total
Solvent used (litres) {Litres)
C
| 4.00] 4.00| 4.00] _ 4.00] 4.50 20.50
Estimated still residue for month (litres) I d I ‘30.0ﬂ
Note: Estimate the amount of residue collected so that a draft solvent usage figure can be obtained. You will need to adjust this
figura from time to time so that the total for the year corresponds to your waste collection transfer notes,
Still type / Allowance factor
Waste Allowance factor
e d f=exd
Manual rake out 0.15 30.00 4,50
Pumped out 0.6 0.00
Nominal Monthly Solvent Use | (litres): g=c-f 16.00|
Solvent emission calculation J
Factor: Specific [Wsight of work / Weight of solvent
Type of solvent gravity of solvent {litre of solvent  |Solvent emitted |used '
(afl) (kg /1) _g/kg (kg)
h j=alg k=h/j b =g x (h/1000)
Perc. 1600 99.92 16.01 25.62
Siolocane 970 0.00 0.00 0.00
Hydrocarbon 870 0.00 0.00 0.00
Other 0.00 0.00 0.00

Note: To comply with the regulatioﬁ§ the "Solvent emitted" should be 20g / kg or less




Monthly Inventory Sheet

Site:  Lennox Belstead Month and year: Dec-§b
Machine:
Week ending/Week No:
| 11/12/2010] 18/12/2010| 25/12/2010| 01/01/2011] |
Monthly Total
Weight of work processed (kg) Weight (kg)
a
| 271.80] 336.60| 305.90{ 123.60] 1,037.90
Monthly Total
Solvent used (litres) {Litres)
c
[ 4.00] 4.00| 4.50] 2.00| 14.50
Estimated still residue for month (litres) L d | -24.00]

Note: Estimate the amount of residue collected so that a draft solvent usage figure can be obtained. You will need to adjust this
figure from time to time so that the total for the year corresponds to your waste collection transfer notes.

Still type / Allowance factor

Waste Allowance factor
e d f=exd

Manual rake out 0.15 24.00 - 3.60
Pumped out 0.6 0.00
Nominal Menthly Scivent Use | (ires). | =c-f 10.90
Solvent emission calculation e

Factor: Specific |Weight of work / Weight of solvent

Type of solvent gravity of solvent |litre of solvent  |Solvent emitted |used
(g (kg /1) g/kg (kg)
h i=alg k=h/j b =g x(h/1000)

Perc 1600 95.22 16.80 26.89
Siclocane 970 0.00 0.00 0.00
Hydrocarbon 970 0.00 0.00 0.00
Other 0.00 0.00 0.00

Note: To comply with the regulations the "Solvent emitted” should be 20g / kg or less




Monthly Inventory Sheet

Month and year. Jan-11

Site: Lennox Beistead
Machine:
Week ending/Week No:
| 08/01/2011] 15/01/2011] 22/01/2011| 29/01/2011] 0510212011
Monthly Total
Weight of work processed (kg) Weight (kg)
a
| 291.30] ~279.20] 323.80] 329.70| 319.00 1,543.00
Monthly Total
Solvent used (litres) {Litres)
c
[ 4.00] 4.00} 4.00| ~4.00] 4.00 20.00
Estimated still residue for month (litres) | d I 30.00]

Note: Estimate the amount of residue collected so that a draft solvent usage figure ¢an be obtained. You will need to adjust this
figure from time to time so that the total for the year comresponds ta your waste collection transfer notes.

Still type / Allowance factor

Waste Allowance factor
e d f=exd
Manual rake out 0.15 30.00 4.50
Pumped out 0.6 0.00
[Nominal Monthly Solvent Use I (litres) I g=c-f 15@|
Solvent emission calculation _
B
Factor: Specific [Weight of work / Weight of solvent
Type of solvent gravity of solvent |litre of solvent _ {Solvent emitted |used
{o/l) (kg /1) g/kg (ka)
h j=alg k=h/j |b=gx(h/1000)
Perc 1600 99.55 16.07 25.72
Siolocane 970 0.00 0.00 0.00
Hydrocarbon 970 0.00 0.00 0.00
Qther 0.00 0.00 0.00

Note: To comply with the regutations,the "Solvent emitted" should be 20g / kg or less




Monthly Inventory Sheet

Site:  Lennox Belstead Month and year. Feb-11

Machine:

Week ending/Week No:
| 12/02/2011] 19/02/2011| 26/02/2011} 05/03/2011] |

Monthly Total
Weight of work processed (kg) Weight (kg)
a
| 285.30( 292.40| 266.00) 282.80| 1,126.50
Monthly Total
Solvent used (litres) {Litres)
_ C

{ 4.00] 4.00] 3.50] 4.00] 15.50
Estimated still residue for month (litres) | d | 24.00]
Note: Estimate the amount of residue collected so that a draft solvent usage figure can be obtained. You will need to adjust this

figure from time to time 5o that the total for the year comesponds to your waste collection transfer notes.

Still type / Allowance factor

Waste Allowance factor
e d f=exd

Manual rake out 0.15 24.00 3.60
Pumped out 0.6 0.00
INominaI Monthly Solvent Use I (litres) ] g=c-f 11.90

Solvent emission calculation _

W
Factor: Specific |Weight of work / Weight of solvent
Type of solvent gravity of solvent (litre of solvent  |Solvent emitted |used
(af) (kg /1) g/kg (kg)
h j=aig k=h/j |b=gx(h/1000)

Perc 1600 94.66 16.90 27.04
Siolocane 870 0.00 0.00 0.00
Hydrocarbon 970 0.00 0.00 0.00
Other 0.00 0.00 0.00

Note: To comply with the regulations the "Solvent emitted” should be 20g / kg or less




Monthly inventory Sheet

Site:  Lennox Belstead Month and year: Mar-11
Machine:
Week ending/Week No:
[ 12/03/2011] 19/03/2011{ 26/03/2011| 02/04/2011] |
Monthly Total
Welght of work processed (kg) Weight (kg)
a
| 283.80| 280.00] 269.00] 294.20| 1,127.00
Monthly Total
Solvent used (litres) (Litres)
c
[ 4.00{ 4.00] 3.50| 4.00] 15.50
Estimated still residue for month (fitres) | d | 24,00/
Note: Estimate the amount of residue collected sc that a draft solvent usage figure can be cbtained. You will need to adjust this *
figure from time to time so that the total for the year comresponds to your waste collection transfer notes.
Still type / Alowance factor
Waste Allowance factor
e d f=exd
Manual rake out 0.15 24.001 3.60
Pumped out 0.6 0.00
]Nominal Monthly Solvent Use | {litres) I g=c-f 11.9ﬂ
Solvent emission calculation
Factor: Speciﬁc Weight of work / Weight of solvent
Type of solvent gravity of solvent |litre of solvent  |Solvent emitted |used
(gA) (kg /1) g/kg (kg)
h j=alg k=h/j b =g x(h/1000)
Perc 1600 94.71 16.89 27.03
Siolocane 970 0.00 0.00 0.00
Hydrocarbon 970 0.00 0.00 0.00
Other 0.00 0.00 0.00

Note: To comply with the regulations the "Solvent emitted"” should be 20g / kg or iess

A




Monthly Inventory Sheet

Site:  Lennox Belstead Month and year: Apr-11
Machine:
Week ending/Week No:
[ 09/04/2011} 16/04/2011| 23/04/2011| 30/04/2011| ]
Maonthly Total
Weight of work processed (kg) Weight (kg)
a
[ 338.20} 332.70] 359.90] 342 40| 1,373.20
Monthly Total
Solvent used (litres) (Litres)
c
[ 4.50] 4.50| 4.50] 4.50] 18.00

Estimated still residue for month (litres)
Note: Estimate the amount of residue collected so that a draft solvent usage figure can be obtained. You will need to adjust this
figure from time to time so that the total for the year comesponds to your waste collection transfer notes.

Still type / Allowance factor

d l

24,00/

Waste Allowance factor
e d f=exd

Manual rake out 0.15 24.00 3.60
Pumped out 0.6 0.00
Nominal Monthly Solvent Use | {litres) , g=c-f l 14E|
Solvent emission calculation

Factor: Speciﬁc Weight of worl / Weight of solvent

Type of solvent gravity of solvent llitre of solvent Solvent emitted |used
@n (kg /1) _9/kg (kg)
h ji=alg k=htj b =g x(h/1000)

Perc 1600 95.36 16.78 26.85
Siolocane . 970 0.00 0.00 0.00
Hydrocarbon 970 0.00 0.00 0.00
Other 0.00 0.00 0.00

Note: To comply with the regulations the "Solvent emitted" should be 209 /kg or less

-




Monthly Inventory Sheet

Site:  Lennox Belstead Month and year: May-11
Machine:
Week ending/Week No:
[ 07/05/2011] 14/05/2011] 21/05/2011] 28/05/2011| 04/06/2011]
Monthly Total
Weight of work processed (kg) Weight (kg)
a
[ 314.50] 336.10] 329.60| 389.50( 303.50 1,673.20
Monthly Total
Solvent used (litres) {Litres)
c
| 4.00] 4.50] 4.00] 4.50| 4.00 21.00
Estimated still residue for month (litres) ' | d I 30.00[

Note: Estimate the amount of residue collected so that a draft solvent usage figure can be obtained. You will need to adjust this
figure from time to time so that the total for the year comesponds to your waste collection transfer notes.

Still type I Allowance factor

Waste Allowance factor
e d f=exd
Manual rake out 0.15 30.00 4.50
Pumped out 0.6 0.00
[Nominal Monthly Soivent Use [ qitesy | g=c-f | 16.50
Solvent emission calculation
Factor: Specific [Weight of work / Weight of solvent
Type of solvent gravity of solvent |litre of solvent  [Solvent emitted {used
(o) (kg /1) g/kg (ka)
h j=alg k=htj b =g x (h/1000)
Perc 1600 101.41 15.78 25.25
Siolocane 970 0.00 0.00 0.00
Hydrocarbon 970 0.00 0.00 0.00
Other 0.00 0.00 .0.00

Note: To comply with the regulations the "Solvent emitted” should be 20g / kg or less

-




Monthly Inventory Sheet

Site:  Lennox Belstead Month and year: Jun-11
Machine:
Week ending/Week No:
| 11/06/2011] 18/06/2011| 25/06/2011| 02/07/2011] |
Monthly Total
Weight of work processed (kg) Weight (kg)
a
[ 301.90] 314.60) 333.80] 297.80| 1,248.10
Monthly Total
Solvent used {litres) (Litres)
c
| 4.00| 4.00] 4.00| 4.00] 16.00
Estimated still residue for month (litres) | d | 24.00]

Note: Estimate the amount of residue collected so that a draft solvent usage figure can be obtained. You will need to adjust this
figure from time to time so that the total for the year corresponds to your waste collection transfer notes.

Still type / Allowance factor

Waste Allowance factor
e d f=exd

Manual rake out 0.15 24.00 3.60
Pumped out 0.6 0.00
Nominal Monthly Solvent Use I (litres) I g=c-f l 12.46]
Solvent emission calculation

Factor: Speciﬁc Weight of work / Weight of solvent

Type of solvent gravity of soivent |litre of solvent  {Solvent emitted {used
(af) (kg /1) g/kg {ka)
h j=alg kK=htj b = gx(h/1000)

Perc 1600 100.65 15.90 25.43
Siolocane 970 0.00 0.00 0.00
Hydrocarbon 970 0.00 0.00 0.00
Other 0.00 0.00 0.00

Note: To comply with the regulations the "Solvent emitted" should be 20g / kg or less

-




Monthly Inventory Sheet

Site:  Lennox Belstead Month and year:  Jul-11
Machine:
Wesak ending/Week No:
[ 09/07/2011] 16/07/2011] 23/07/2011] 30/07/2011] 06/08/2011}
Monthly Total
Weight of work processed (kg) Weight (kg)
a
[ 334.20] ~351.40| 336.60] 279.80| 1,302.00
Monthly Total
Solvent used (litres) (Litres)
C
| 4.50] 4.50| 4.50] 4.00] 17.50
Estimated still residue for month (litres) | d | 24.00]

Note. Estimate the amount of residue collected so that a draft solvent usage figure can be obtained. You will need to adjust this -
figure from time to time so that the total for the year comespoends to your waste collection transfer notes.

Still type I Allowance factor

Waste Allowance factor
e d f=exd

Marnual rake out 0.15 24.00 3.60
Pumped out 0.6 0.00
[Nominal Monthly Solvent Use [ gtresy | g=c-f | 13.90]
Solvent emission calculation

Factor: Speciﬁc Weight of work / Weight of solvent

Type of solvent gravity of solvent llitre of solvent  |Solvent emitted |used
(o) kg /1) 9/kg (ka)
h j=alg k=h/j b =gx(h/1000)

Perc 1600 93.67] 17.08 27.33
Siclocane 870 0.00 0.00 0.00
Hydrocarbon 970 0.00 0.00 0.00
Other 0.00 0.00 0.00

Note: To comply with the regulations the "Solvent emitted" should be 20g / kg or less

e




Monthly Inventory Sheet

Site:  Lennox Belstead Month'and year: Aug-11
Machine:
Wesak ending/Week No:
| 31/07/2010] 07/08/2010] 14/08/2010} 21/08/2010] 28/08/2010]
Monthly Total
Welght of work processed (kg) Weight (kg)
a
{ 334.00| 312.20| 316.10| 285.60/ 306.00 1,553.90
Monthly Total
Solvent used (litres) (Litres)
c
[ 4.50] 4.00] 4.00] 4.00] 4.00 20.50
Estimated still residue for month (litres) [ d | 30.00]

Note: Estimate the amount of residue collected so that a draft solvent usage figure can be obtained. You will need to adjust this
figure from time to time so that the total for the year comesponds to your waste collection transfer notes.

Still type / Allowance factor

Waste Allowance factor
e d fzexd

Manual rake out 0.15 30.00 4.50
Pumped out 0.6 0.00
Nominal Monthly Solvent Use | (res) | g=c-f 16.00}
Solvent emission calculation

Factor: Speciﬁc Weight of work / Weight of solvent

Type of solvent gravity of solvent [litre of sofvent  |Solvent emitted [used
{g/l) (kg /1) g/kg {kg)
h j=alg k=h/j |b=gx(h/1000)

Perc 1600 97.12 16.47 26.36
Siolocane 970 0.00 0.00 0.00
Hydrocarbon 970 0.00 0.00 0.00
Other 0.00 0.00 0.00

Note: To comply with the regulations the "Solvent emitted" should be 20g / kg or less

-y




Monthly Inventory Sheet

Site:  Lennox Belstead Month and year: Sep-11
Machine:
Week ending/Week No:
| 04/09/2010] 11/09/2010] 18/09/2010] 25/09/2010| |
Monthly Total
Weight of work processed (kg) Weight (kg)
a
] 308.60] 347.70| 346.90] 364.80| 1,368.00
Monthly Total
Solvent used (litres) {Litres)
c
[ 4.00] 4.50] 5.00] 5.00] 18.50
Estimated still residue for month (litres) { d | 24,00

Note: Estimate the amount of residue collected so that a draft solvent usage figure can be cbtained. You will need to adjust this °
figura from time to time so that the total for the year corresponds to your waste collection transfer notes.

Still type / Allowance factor

Waste Allowance factor
e d f=exd
Manual rake out 0.15 24.00 3.60
Pumped out 0.6 0.00
INominal Monthly Solvent Use | qiresy [ g=c-f | 14.90]
Solvent emission calculation
Factor; Speciﬁc Weight of worl / Weight of solvent
Type of solvent gravity of solvent |litre of solvent _ |Solvent emitted |used
_gh (kg /1) g/kg (kg)
h j=alg k=h/j b =g x(h/1000)
Perc 1600 91.81 17.43 27.88
Siolocane 970 0.00 0.00 0.00
Hydrocarbon g70 0.00 0.00 0.00
Other ‘ 0.00 0.00 0.00

Note: To comply with the regulations the "Solvent emitted” should be 20g / kg or less
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Monthly Inventory Sheet

Site:  Lennox Belstead Month and year: Oct-11
Machine:
Woeek ending/Week No:
! 02/10/2010| 09/10/2010] 16/10/2010] 23/10/2010] 30/10/2010]
Monthly Total
Weight of work processed (kg) Weight (kg)
a
| 366.00{ 322.30} 352.60| 323.70] 1,364.60
Monthly Total
Solvent used (litres) {Lifres) .
c
[ 4.50| 4.50] 5.00] 5.00] 19.00

Estimated still residue for month (litres)

Note: Estimate the amount of residue callected so that a draft solvent usage figure can be obtained. You will need to adjust this
figure from time to time so that the total for the year coresponds to your waste collection transfer notes.

Still type / Allowance factor

L

d l

24.00]

Waste Allowance factor
e d f=exd

Manual rake out 0.15 24.00 3.60
Pumped out 0.6 0.00
Nominal Monthly Soivent Use l (litres) I g=c-f l 15.4T)|
Solvent emission calculation -

Factor. Specific {Weight of work / Weight of solvent

Type of solvent gravity of solvent [litre of solvent  [Solvent emitted |used
@ _ (kg /1) g/kg (kg)
h j=alg k=h/j b =g x (h/1000)|

Perc 1800 83.61 18.06 28.89
Siolocane 870 0.00 0.00 0.00
Hydrocarbon 870 0.00 0.00 0.00
Other 0.00 0.00 0.00

Note: To comply with the regulations the "Solvent emitted" should be 209/ kg or less

Y
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Monthly Inventory Sheet

Site:  Lennox Belstead Month and year: Oct-10
Machine:
Week ending/Week No:
[ 02/10/2010} 09/10/2010] 16/10/2010] 23/10/2010] 30/10/2010}
Monthly Total
Weight of work processed (kg) Weight (kg)
a
| 346.30] 323.40| 376.10] 359.60] . 1,405.40
Monthly Total
Solvent used (litres) {Litres)
c
| 4.00} 3.50{ 5.00] 5.00] 17.50
Estimated still residue for month (litres) L d l 20.00]

Note: Estimate the amount of residue collected so that a draft sclvent usage figure can be obtained. You will need to adjust this
figura from time to time so that the total for the year corresponds to your waste collection transfer notes.

Still type / Allowance factor

Waste Allowance factor
e d f=exd
Manual rake out 0.15 20.00} 3.00
Pumped out 0.6 0.00
[Nominal Monthly Solvent Use | (tresy’ | g=c-f | 14.50
Solvent emission calculation ¢
Factor: Specific |Weight of work / Weight of solvent
Type of solvent gravity of solvent |litre of soivent  |Solvent emitted |used
{(g") (kg /1) g/kg (kg)
h j=alg kK=h/j b =g x(h/1000)
Perc 1600 96.92 16.51 26.41
Siolocane 970 0.00 0.00 0.00
Hydrocarbon 970 0.00 0.00 0.00
Other 0.00 0.00 0.00

Note: To comply with the regulatiorig the "Solvent emitted” should be 20g / kg or less
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Monthly Inventory Sheet

Site:  Lennox Belstead Month and year: Sep-10
Machine:
Week ending/Week No:
| 04/09/2010] 11/09/2010| 18/09/2010{ 25/09/2010] |
Monthly Total
Weight of work processed (kg) Weight (kg)
a
{ 260.10} 296.70} 340.80| 362.30| 1,260.00
Monthly Total
Solvent used (litres) {Litres)
c
| 4.00 4.00] 5.00| 5.00] 18.00
Estimated still residue for month (litres) | d | 20.00

Note: Estimate the amount of residue collected so that a draft solvent usage figure can be obtained. You will need to adjust this
figure from time to time so that the total for the year corresponds to your waste collection transfer notes.

Still type / Allowance factor

Waste Allowance factor
e d f=exd

Manual rake out 0.15 20.00 3.00
Pumped out 0.6 0.00
Nominal Monthly Soivent Use l (litres) I g=c-f l 15.00|
Solvent emission calculation

Factor: Specific [Weight of work / Weight of solvent

Type of solvent gravity of solvent |litre of solvent  |Solvent emitted |used
(g/) (kg /1) g/kg (kg)
h j=alg k=h/j b =g x (h/ 1000)

Perc 1600 84.00 19.05 30.48
Siolocane 870 0.00 0.00 0.00
Hydrocarbon 870 0.00 0.00 0.00
Other 0.00 0.00 0.00

Note: To comply with the regulations the "Solvent emitted"” should be 20g / kg or less
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Monthly Inventory Sheet

Site:  Lennox Beistead Month and year: Aug-10
Machine:
Woeek ending/Week No:
| 31/07/2010] 07/08/2010| 14/08/2010] 21/08/2010] 28/08/2010|
Monthly Total
Woeight of work processed (kg) Weight (kg)
a
i 311.10| 307.00| 324.90] 356.30] 309.30 1,608.60
Monthly Total
Solvent used (litres) (Litres)
C
[ 4.00| 4.00( 4.50] 5.00] 4.00 21.50
Estimated still residue for month (litres) | d [ 25.00|
Note: Estimate the amount of residue collected so that a draft solvent usage figure can be cbtained. You will need to adjust this .
figure from time to time so that the total for the year coresponds to your waste collection transfer notes.
Still type / Allowance factor
Waste Allowance factor
e d f=exd
Manual rake out 0.15 25.00 3.75
Pumped out 0.6 0.00
{Nominal Monthly Solvent Use | (res) [ g=c-f | 17.75)
Solvent emission calculation
Factor: Specific |Weight of work / Weight of solvent
Type of soivent gravity of soivent {litre of solvent  {Solvent emitted |used
(/) (kg 71 glkg (kg]
h ji=alg k=hij b =gx(h/1000)
Perc 1600 90.83 17.68 28.25
Siclocane 870 0.00 0.00 0.00
Hydrocarbon 870 0.00 0.00 0.00
Other 0.00 0.00 0.00

Note: To comply with the regulations the "Solvent emitted” shouid be 209 / kg or less

Y
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Monthly Inventory Sheet

Month and year:  Jul-10

Site: Lennox Belstead
Machine:
Week ending/Week No:
l 03/07/2011] 10/07/2011] 17/07/2011] 24/07/2011] 31/07/2011]
Monthly Total
Weight of work processed (kg) Weight (kg)
a
[ 289.50] 341.504 295.10] 319.90] 1,246.00
Monthly Total
Solvent used (litres) (Litres)
c
| ‘ 4,00] 4.50] 4.00] 4.00] 16.50
Estimated still residue for month (litres) | d I 20.00]

Note: Estimate the amount of residue collected so that a draft solvent usage figure can be obtained. You will need to adjust this
figure from time to time so that the total for the year corresponds to your waste collection transfer notes.

Stiil type / Allowance factor

Waste Allowance factor
e d f=exd
Manual rake out 0.15 20.00 3.00
Pumped out 0.6 0.00
[Nominal Monthiy Solvent Use [ @tes), | g=c-f | 13.50]
Solvent emission calculation P
Factor: Specific |Weight of work / Weight of solvent
Type of solvent gravity of solvent |litre of solvent | Solvent emitted used
(g (kg /1) g/kg {kg)
h j=alg k=h/j b =g x (h/1000)
Perc 1600 92.30 17.34 27.74
Siclocane 970 0.00 0.00 0.00
Hydrocarbon 970 0.00 0.00 0.00
Other 0.00 0.00 0.00

Note: To comply with the regulations the "Solvent emitted” should be 20g / kg or less




Monthly Inventory Sheet

Site:  Lennox Belstead Month and year: Jun-10
Machine;
Week ending/Week No:
[ 05/06/2010]| 12/06/2010| 19/06/2010| 26/06/2010] |
Monthly Total
Weight of work processed (kg) Weight (kg)
a
{ 266.90] 339.40| 324.40] 339.50| 1,270.20
Monthly Total
Solvent used (litres) (Litres)
c
| 3.00] 4.50] 4.00] 4.50| 16.00
Estimated still residue for month (litres) | d | 20.00}
Note: Estimate the amount of residue collected so that a draft solvent usage figure can be obtained. You will need to adjust this
figure from time to time so that the total for the year comesponds to your waste collection transfer notes.
Still type / Allowance factor
Waste Allowance factor
e d fzexd
Manual rake out 0.15 20.00 3.00
Pumped out 0.6 0.00
INorvinal Monthiy Solvent Use |  gtresy | g=c-f 13.00|
Solvent emission calculation
Factor: Specific |Weight of work / Weight of solvent
Type of soivent gravity of solvent [litre of solvent  |Solvent emitted |used
(/) (kg /b g /kg (kg)
h j=alg k=h/j b =gx(h/1000)
Perc 1600 97.71 16.38 26.20
Siolocane 970 0.00 0.00 0.00
Hydrocarbon 970 0.00 0.00 0.00
Other 0.00 0.00 0.00

Note: To comply with the regulations the "Solvent emitted" should be 20g / kg or less




Monthly Inventory Sheet

Site:  Lennox Belstead Month and year: May-10
Machine:
Week ending/Week No:
[ 01/05/2010] 08/05/2010/ 15/05/2010| 22/05/2010] 29/05/2010]
Monthly Total
Weight of work processed (kg) Weight (kg)
a
| 345.50} 296.50| 40590 340.10| 343.90 1,731.90
Monthiy Total
Solvent used (litres) {Litres)
c
| 4.50| 4.00| 5.00] 4.50] 4.50 22.50
Estimated still residue for month (litres) t d | 25.00

Note: Estimate the amount of residue collected so that a draft solvent usage figure can be obtained. You will need to adjust this
fi gure from time to time so that the total for the year corresponds to your waste collection transfer notes.

Still type / Allowance factor

Waste Allowance factor
e d f=exd

Manual rake out 0.15 25.00 3.75
Pumped out 0.6 0.00

|Nominal Monthly Scivent Use | (litres) | g=c-f l 18.75|

Solvent emission calculation
Factor: Specific |Weight of work / Weight of solvent
Type of solvent gravity of solvent |litre of solvent  |Solvent emitted |used
(g (kg /b g/kg (kg)

h i=alg k=h/j b =gx(h/1000)
Perc 1600 92.37 17.32 27.72
Siolocane 970 0.00 0.00 0.00
Hydrocarbon 870 0.00 0.00 0.00
Other 0.00 0.00 0.00

Note: To comply with the regulations the "Solvent emitted” should be 20g / kg or less

in




Monthly Inventory Sheet

Site: Lennox Belstead Month and year: Apr-10

Machine:

Week ending/Week No:
| 03/04/2010} 10/04/2010| 17/0412010] 24/04/2010] ]

Monthly Total
Weight of work processed (kg) Weight (kg)
a
| 349.00| 332.70| 366.90] 335,30} 1,383.90
Monthly Total
Solvent used (litres) (Litres)
C

! 5.00| 5.00] 5.00| 4.00] 19.00
‘Estimated still residue for month (litres) | d | 24.00]
Note: Estimate the amount of residue collected so that a draft soivent usage figure can be obtained. You will need to adjuét this

figure from time to time so that the total for the year corresponds to your waste collection transfer notes.

Still type / Allowance factor

Waste Allowance factor
e d f=exd

Manual rake out 0.15 24.00 3.60

Pumped out 0.6 0.00
[Nominal Monthly Solvent Use | Gitresy | g=c-t | 15.40)

Solvent emission calculation

‘.l
Factor: Specific |Weight of work / Weight of solvent
Type of sclvent gravity of solvent |litre of solvent  |Solvent emitted |used
(af) (kg 7 1) g/kg (kg)
h j=alg k=h/j b =g x(h/1000)

Perc 1600 £9.86 17.80 28.49

Siolocane 970 0.00 0.00 0.00

Hydrocarbon 970 0.00 0.00 0.00

Other 0.00 0.00 0.00

Note: To comply with the regulations the "Solvent emitted” should be 20g / kg or less




Monthly Inveniory Sheet

Site: Lennox Belstead Month and year: Mar-10
Machine:
Week ending/Week No:
[ 06/03/2010| 13/03/2010] 20/03/2010| 27/03/2010| |
Monthiy Total
Weight of work processed (kg) Weight (kg)
a
( 361.80) 363.90| 368.50] 361.20{ 1,455.40
Monthly Total
Solvent used (litres) (Litres)
c
i 5.00] 5.00| 5.00| 5.00| 20.00
Estimated still residue for month (litres) [ d | 24.00

Note: Estimate the amount of residue collected so that a draft solvent usage figure can be obtained. You will need to adjust this
figure from time to time so that the total for the year corresponds to your waste collection transfer notes.

Still type / Allowance factor

Waste Allowance factor
e d f=exd
Manual rake out 0.15 24.00 3.60
Pumped out 0.6 0.00
[Nominal Monthly Soivent Use | gitesy | g=c-f | 16.40]
Solvent emission calculation
Factor: Specific |Weight of work / Weight of sclvent
Type of solvent gravity of solvent |litre of solvent Solvent emitted |used
(g (kg /1) glkg (kg)
h j=alg k=h/j b =g x (h/1000)
Perc 1600 88.74 18.03 28.85
Siolocane 970 0.00 0.00 0.00
Hydrocarbon 970 0.00 0.00 0.00
Other 0.00 0.00 0.00

Nots: To comply with the regulations the "Saolvent emitted" should be 20g / kg or less

s




Monthly Inventory Sheet

Site:  Lennox Belstead Month and year. Feb-10
Machine:
Week ending/Week No:
[ 06/02/2010{ 13/02/2010] 20/02/2010] 27/02/2010] t
Monthly Total
Weight of work processed (kg) Weight (kg)
a
| 304.40] 351.00| 348.50] 366.30] 1,370.20
Monthly Total
Solvent used (litres) (Litres)
c
[ 4.00] 4.50] 4.50] 5.00 18.00
Estimated still residue for month (litres) l d [ 24.00[

Note: Estimate the amount of residue collected so that a draft solvent usage figure can be obtained. You will need to adjust this
figure from time to time so that the total for the year corresponds to your waste collection transfer notes.

Still type / Allowance factor

Waste Allowance factor
e d f=exd
Manual rake out Q.16 24.00] 3.60
Pumped out 0.6 ' 0.00
[Nominal Monthly Soivent Use | (ites) |  g=c-f | 14.40
Solvent emission calculation
Factor: Specific [Weight of work / Weight of solvent
Type of solvent gravity of solVent |litre of solvent  |Solvent emitted |used
{g/) (kg /1) g/kg (kg)
h j=alg k=h/j b =g x(h/1000)
Perc 1600 95.15 16.82 26.90
Siclocane 970 0.00 0.00 0.00
Hydrocarbon g70 0.00 0.00 0.00
Other 0.00 0.00 0.00

Note: To comply with the regulations the "Soivent emitted" should be 20g / kg or less




Monthly Inventory Sheet

Site:  Lennox Belstead Month and year: Jan-10
Machine:
Week ending/Week No:
| 02/01/2010] 09/01/2010] 16/01/2010| 23/01/2010] 30/01/2010|
Monthily Total
Weight of work processed (kg) Weight (kg)
a
| 229.90| 302.10] 259.00] 317.50| 301.60 1,410.10
Monthiy Total
Solvent used (litres) {Litres)
¢
| 3.00| 4.00| 4.00| 4.00] 4.00 19.00
Estimated still residue for month (litres) | d I 24.00

Note: Estimate the amount of residue collected so that a draft soivent usage figure can be obtained. You will need to adjust this
figurz from time to time so that the total for the year corresponds to your waste collection transfer notes.

Still type / Allowance factor

Waste Allowance factor
e d f=exd
Manual rake out 0.15 24.00 3.60
Pumped out 0.6 0.00
iNominal Monthly Solvent Use | {litres) l g=c-f l 15.40]
Solvent emission calculation
Factor: Specific (Weight of work / Weight of solvent
Type of solvent gravity of solvent |litre of solvent  [Solvent emitted |used
_ (gl (kg /1) g/kg (kg)
h j=alg k=h/j b =gx(h/1000)
Perc 1600 91.56 17.47 27.96
Siolocane 870 0.00 0.00 0.00
Hydrocarbon 970 0.00 0.00| 0.00
Other 0.00 0.00 0.00

Notza: To comply with the regulations the "Soivent emitted” should be 20g / kg or less

s




Monthly Inventory Sheet

Site: Lennox Belstead Month and year: Dec-09
Machine:
Week ending/Week No:
[ 05/12/2009] 12/12/2009]| 19/12/2009{ 26/12/2009| Il
Monthly Total
Weight of work processed (kg) Weight (kq)
a
| 341.80] 351.50| 407.20] 194.30] 1,284.80
Monthly Total
Soivent used (litres) {Litres)
C
[ 4.50] 4.50] 5.50] 3.00| 17.50
Estimated still residue for month (litres) L d | 24.00]

Note: Estimate the amount of residue collected so that a draft soivent usage figure can be obtained. You will need to adjust this .
figurs from time to time so that the total for the year corresponds to your waste coilection transfer notes.

Still type / Allowance factor

Waste Allowance factor
e d f=exd
Manual rake out 0.15 24.00 3.60
Pumped out 0.6 0.00
{Nominal Monthly Solvent Use | qgites) | g=c-f ] 13.90)
Solvent emission calculation
Factor: Speciﬁc Weight of work / . Weight of solvent
Type of solvent gravity of solvent |litre of solvent  |Solvent emitted |used
(e (ka/l) g/kg (kg)
h j=alg k=h/j b =g x(h/1000)
Perc 1600 93.15 17.18 27.48
Siolocane 970 0.00 0.00 0.00
Hydrocarbon 970 0.00 0.00 0.00
Other 0.00 0.00 0.00

Note: To comply with the regulations the "Solvent emitted" should be 20g / kg or less

Y




Monthly Inventory Sheet

Site:  Lennox Belstead Month and year: Nov-09
Machine:
Waeek ending/Week No:
| 31/10/2010f 07/11/2010| 14/11/2010] 21/11/2010] 28/11/2010]
Monthly Total
Weight of work processed (kg) Weight (kg)
a
| 339.00! 278.00} 334.80| 342.70| 369.90 1,664.40
Monthly Total
Solvent used (litres) (Litres)
[
! 5.00] 4.00] 5.00] 5.50| 5.00 24.50
Estimated still residue for month (litres) [ d | 30.00)

Note: Estimate the amount of residue collected so that a draft solvent usage figure can be obtained. You will need to adjust this
figure from time to time so that the total for the year comesponds to your waste collection transfer notes.

Stilt type / Allowance factor

Waste Allowance factor
e d f=exd

Manual rake out 0.15 30.00 4.50
Pumped out 0.6 0.00
INominaI Monthly Solvent Use | {litres) | g=c-f | 20.00|
Solvent emission calculation

Factor: Speqific [Weight of work / Weight of solvent

Type of solvent gravity of solvent |litre of solvent  |Solvent emitted |used
(g/) (kg /1) g/kg _(ka)
h j=alg K=h/j b =g x (h/1000)|

Perc 1600 83.22 19.23 30.76
Siolocane 970 0.00 0.00 0.00
Hydrocarbon 970 0.00 0.00 0.00
Other 0.00 0.00 0.00

Note: To comply with the regulations the "Solvent emitted" should be 20g / kg or less




